7.3 Absolute Value Equations

To solve absolute value equations:

1. Isolate the absolute value expression
2. Create two equations.
i)The expression inside the absolute value function is positive.
ii) The expression inside the absolute value function is negative.
3. Solve each equation and check for extraneous roots.

\7\\: 5 Ll'x|~3 ',F]

,L/,o\ A\ -
Db AR Lixl =10
U‘x\‘_x""/ =5 o *X=-9 1¥[=5
NS

Ex.1 Solve and show how each solution can be found graphically.
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Ex. 3 A program controls the amount of chups pac'r\aﬂed

foa Dag: If the
ideal mass is 143 grams with an error of 4 grams. Between what

masses can the bag of chips be? Determine the absolute value equation
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Reminder:

When asked to solve by graphing
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_ 2. 6raph the right side y,=5
\ 2x-3| = 5 3. Find the points of infersection.

The values of x that balance the equation.

(where y1 = y2)
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Assignment: p389 #2ac,4 5ace 6hbe, 7,9,10,12,2217*
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